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The first transformerfirst transformer has a 2:1 ratio2:1 ratio
of turns, so the voltage doublesvoltage doubles.  
But the second transformersecond transformer has a 
1:2 ratio1:2 ratio, so the voltage is halvedvoltage is halved
again.  Therefore, the end result is 
the same as the original voltagesame as the original voltage.

120 V120 V 240 V240 V 120 V120 V

What is the voltage What is the voltage 
across the across the lightbulblightbulb? ? 

1)   30 V1)   30 V

2)   60 V2)   60 V

3)   120 V3)   120 V

4)   240 V4)   240 V

5)   480 V5)   480 V
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Power in   =   Power outPower in   =   Power out

240 V × 1 A   =   120 V × ???

The unknown current is 2 AThe unknown current is 2 A.

1)   1/4 A1)   1/4 A

2)   1/2 A2)   1/2 A

3)   1 A3)   1 A

4)   2 A4)   2 A

5)   5 A5)   5 A

Given that the intermediate Given that the intermediate 

current is 1 A, what is the current is 1 A, what is the 

current through the current through the 

lightbulblightbulb? ? 
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1 A1 A

120 V120 V 240 V240 V 120 V120 V


